Select the correct answer(s) from the given options:

1. Shaun started at 57. He skip-counted by threes. Could he have said the number 69?
a) yes
b) no

Answer:

2. Kim started at 82. She skip-counted by fives. Could she have said the number 98?
a) yes
b) no

Answer:

3. James started at 75. He skip-counted by fives. Could he have said the number 90?
a) yes
b) no

Answer:

4. Jim skip-counted by tens, beginning at 24. Could he have said the number 767?
a) yes
b) no

Answer:

5. Mary skip-counted by twos, beginning at 36. Could she have said the number 76?
a) yes
b) no

Answer:

6. Tom skip-counted by threes, beginning at 42. Could he have said the number 817?
a) yes
b) no

Answer:




7. Johnny skip-counted, beginning at 25, until he got to 55. Could he be counting by fives?
a) yes
b) no

Answer:

8. Marlene skip-counted, beginning at 18, until she got to 38. Could she be counting by threes?
a) yes
b) no

Answer:

9. Michael skip-counted, beginning at 23, until he got to 47. Could he be counting by fives?
a) yes
b) no

Answer:

10. David began at 50. He skip-counted by fives. Could he have said the number 75 ?
a) yes
b) no

Answer:

11. Shane began at 11. He skip-counted by twos. Could he have said the number 32 ?
a) no
b) yes

Answer:

12. Emily began at 45. She skip-counted by tens. Could she have said the number 85 ?
a) no
b) yes

Answer:
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Answer Sheet

yes
no

yes
no

yes
yes
yes
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11.no
12. yes
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